Al 2

m Kl
RRBRE SEEXRE £ H16,000M
BRIy —2 118 2,500
4 —+IL 118 50/
£ 118 200/
Syl BT 118 100/
BERE |BEREAZAL 18 100/
BRE-X— 18 2,000/
FERKE (M 724880) 1R 10,000/
BemvA s 1K 1,000
BE7AY o 8— (R7)—vFE) 1kvy b 3,000
S AR iF\HT 3,500 4 : 5,000/
2H : 8,500/
LEEE 1R FHT - FHE 1[EICD=1,800M
A7 (REV K- 82E3E) 14K FHT - F4E 1EICD E500M
TAVYLZATAY (v F) 1R FHT - FHE 1EICDX1,100M
- TAVYLRTAY (EY) 1&K Fay - F#%1EICDE1,100M
ETFEE 1R FHT - FHE 1[EICDX2,200M
BE7AY 72— (R7U—=f) 18 FHI - FHE 1[EIC>E1,900M
m@m7AYrox— (B71) 14 FHT - FHE1EICD =1,000M
ROV a— (72) 146 R - FH-A1ENCD E1,000M
XABEAAT 15 FHT - FHE1EICD Z2,000M
A v &—>v FREEEXRE —A R - F#££1[E12> = 30,000/
BAZEIRIA | H—<ILAXAT 18/ 300
. EMARER 16 100/
N—=—F 43y 18 300/
RREZ—ER (FESR)
RRZ—ENR
(vv FERIE] EART#E L@kl EANA
Y4 X it oL Y4 X kL]
B3 1,300/ B3 800
A2 1,600M A2 1,000
B2 2,300 B2 1,200/
Al 2,900/ Al 1,500/
B1 4,300M B1 1,900/
A0 5,500/ AO 2,900
BO 7,700 BO 3,300




